Ez5 (i k&)

HEE= 2011/03/16 04:00
[RT—% = GPV+EHAME (2011/03/16 04:00) £T

BEE 1 REE

e Yl S =

St NN ey
= T B
Al km o
TP SSes
;__3-__; KN >
5 S¥e A S
—> —> A Y
Lakim,
e N
—S —s > >
— —s 3> =
= Cumesl g
ke, |
B T s T
I T T
TS TS
i R LIRREN
~— T S
Triy T AT
\\\_X———;—é—%

— > > —»

=

A

N

v

DL R

L Y
oo ot ol s A RS N

bl o o P

-10_km15_km__

=

>

~

v

v

y

A

EY

=

v ¥

P S G

v

v

R % v v v v
- 7. v v v v w
4y % WL v v
A v % W v v v
S ~ v v v ' v
R v v W W v
AL e i v v W 2
A wi. W W W v \'4
ot N S R G
s N v v v
NNy uﬂﬁﬂl \%
§ &. y y v v Vi
NG W N Y Y v v
Ny y v v v v
| A K w.\v v v
<o BAEET, oy
N N W v v v
~ N 4 v v v v
PR N oW e W
b TS TR | v v W
=S B Gy § vV
-

7 =

NN

~

e D

YA R 141°02'10° — 37" 25" 12
PRI : 23km X 23km

KTEmE = 12000 m

YA bROLFHEOR it 2.2 m/s

AKRLEE : FEI

FEETILE= WIND21
HEAy 2@ KkEAM= 0.50 kn
[A.41]

—

10 m/s

0 4R EHIES1-281F



ASTEE (AvE) (Ghts) BBE1 282 WEE
 ABS= 2011/03/16 04:00 - 2011/03/16 05:00
[ART—% = GPV+ERE (2011/03/16 04:00) £T

= 3

=

-10 k15 km

el ;o 141°02°08° — 37°25° 18

PRI : 23km X 23km
RESE = .00 m

L ORK:1))
ASHRESER Bo/nd)
1=5.00x10 10

2=1 00)(10 _10 P ——

4=1.00x10 "N ==
5=5. 00X 10 712 ——eeem—-.

BARE=66x10 ~108¢/n3
MO 1.3 kb (+EN)

SEETIE= PRIDA2T

EREFNE= BREFI
IGEE30) :
FAEAYaE KFEFE= 0.25 kn
BEE =120. Om

PREBEEE =20000 MWD/MTU
BRI ES1=2011/03/11 16:00
M FREEZ] =2011/03/16 04:00
BMHEE— F=BEKEH ,
HAEIE - iR (&) : Ba/h (Ba)
avs :1.00x10 0 (1.00%10 0)

0 4BSEHIERI-28)F



ZERRUREREER " EEE1 2BF HEE T Hubes 141002708 — 3772518

A= 2011/03/16 04:00 - 2011/03/16 05:00 BiERZR =FHR SRS :23km X 23km
[RT—% = GPV+EBIE (2011/03/16 04:00) £T LR
e P— e b R B E (B (1 Gy/h)
e AR & 1=5.00x10 -1%

D

| =h

2=1.00X10 "1 eccccsas=
3=5.00%10 16 ——cemee
4=1.00%10 16 cmmem-
5=5. 00X 10 ~17 == mmmee

BABEE=8 5%10 194 Cy/h
WM ADE 1.3 kmibs (+ED)

FTEET )V A= PRWDA21
FERAETFINGE= BEETI
[FtE&=H]
HEAYalF KkFEARB= 0.25 km
MEE =120. Om
PRBEE  =20000 MWD/MTU
BT EZI=2011703/11 16:00
BB BREEZ =2011/03/16 04:00
BHEE— R=BEAEisH
FOHEALIE - it EE (F8E) : Ba/h (Ba)
EHZR 1.00x10 0 (1.00%x10 )

=10 k15 kn 0 4BEBESI-22




